
Naming Oxy-ions

‣ All 20 oxy-ions have the same 
charge as their central atom 
normally prefers — except carbon 
and nitrogen 

‣ P and S oxy-ions have  
3 or 4 oxygens. 

‣ C,N,Cl,Br, and I oxy-ions have  
2 or 3 oxygens. 

‣ The “ite” ion is always the one 
with less oxygens. 

‣ The “ate” ion is always the one 
with more oxygens. 

‣ The 3 halogens can super size:  
4 oxygens = perchlorate ion 

‣ The 3 halogens can also have  
a really small ion:  
1 oxygen = hypochlorite ion 

‣ There are four misc polyatomic 
ions you should also know:  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Think of a party, and 
remember: I “ate more”. The ate ion 

has more oxygens.
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